MACO GPRK RADIAL KIT

PARTS LIST & INSTRUCTIONS

PART OTY SIZE LENGTH DESCRIPTION CHECKLIST
T47P 4 5/8" 18" Alum. Tubing slotted both ends

TO1 4 172" 72" Alum. Tubing

RO3P 1 Cast Aluminum Spider

W58P 8  5/8" Extruded Alum. Clamp

s21 8 10-24 Machine Screws

N11 8 10-24 Square Nuts

S24 4 5/16 1" Hex Boalts

PL2 4 122" Black PlasticCaps

To install the radials, first put the aluminum bracket RO3P on the base section BA1P as shown in
Detail 2B. Install the 5/16 x 1 hex bolt, nut, and washer in the bracket. The bracket is positioned so that
thereis 21/2" to 3" clearance between the top of the spider and the bottom of the fiberglass part of the antenna.
Now tighten the bolts and lock nuts. Next take the four T47P radials and the four clamps W58 with #10-
24 x1/2 screws, hardware S2 1, N1 1; and place the clamps with hardware installed over the end of the tubing.
Slide the tubing up on a bracket stub and tighten. Now repeat with the other three radials.

Next take the four TO1P radials and using a marking pen, mark 6” from the end on all four radials.
Now using clamps W58 and #1 O-24 x 1/2 screws with hardware S 11 and N1 1; insert the marked end to the
mark and tighten the clamps (ref. Detail 2C). Install the four Black
Plastic Caps PL2 on the ends. Exact length is not critical.

Ve ~
BAIP \
BASE ASS \
\
RO3P \
SPIDER DETAIL 2A 2

|
I
1
|
|
|
1
1
|

__________________ N
! [ < I :
| - . N i Tol
| “%g\ ! g T2 TUBING
é? o? | | ‘

N |

! [ | T47R .

524 NO1,NO I
| ' | wsspcLA 6% 1" BOLT | \ 5/8" TUBING N |
' 521, N11, HEXNUT& _J |
! #10-24x1/2" LK. WSHB/ ~ |

SCREW & SQ. NUT " :

! (TYPICAL 4?’LACE Z T47P 5/8" TUBING = W58P CLAMP, i
| . Y (TYPICAL 4 PLACES) N To1, N1, #10-24x172" )
1 T47P 5/8" TUBING TO1 112" TUBING SCREW &8SQ. NUT !
i (TYPICAL 4 PLACESY TYPICAL 4 FLACES) \
I / DETAIL 2C
\ DETAIL2B PL2-437" PLASTIC CAP | TYPICAL 4 PLACES |
————————— “ (TYPICAL 4 PLACES) \ -

MACO MANUFACTURING COMPANY: DIVISION OF MAJESTIC COMMUNICATIONS
4091 VISCOUNT AVENUE, MEMPHIS, TENNESSEE 38118
for service and information call 901-794-9494



